8 Second compound -

Chemistry 12 Worksheet 3-2

4. A solution which contains only one of the following cations: Ca?*, Cut, or Sr2+ is tested
with various reagents and the following results are obtained:

Reagent Results
02M MaB804 - & = no precipitate
0.2M NaBr : - precipitate
0.2M NaNO3 " '| no precipitate
b e o oo (ot
Which cation does the solution contain? 25 (1 mark)
5. A solution contains Fe3", Ca2*, Cu', and Be?t. What compeounds (give correct formula for
each compound) could be added, and ir whar order, to separate these ions. Answer this
question by filling in the follpwing c! : (8 marks)

First compound - Na CI BI: I) [ 50’_) a

Net-ionic equation for precipitatioryreactiog: C‘lf"‘ C' o &CI@ (Cn‘*-: &): - Gsaf-)
N, S0, (nL)ihess)

Net-ionic equation for the precipitation reaction: C a*h S0 — G.Sa}_/ G Fe)_5_3>

Third compound - A ﬂ | 5

Net-ionic equation for the precif:;tat'on reacti 253++351 :F-> &’g 6- }
Fourth compound - N 03 p04— Na 0#) (A?};}-Cg) @}ﬁLsSOg)

B 2+ PO = 0 i ) )
Net-ionic equation for the precipitation reaction: 3 -}-& 37 = 8 p 0 LG)

6. A saturated solution of BaF»> has a [F-] of 8.6 x 103-M at a certain temperature. Calculate

the Ksp at this temperature. Show all your steps in a logical manner. Correct use of units
and significant digits counts {3 marks)

4306°M g LxioTM
Bagw = Bt 2F°
1(5 = LBa**)CEI®
F (435 1607)( 8.4x0°)" @ 3. 18x 1677
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‘ a'l/ﬁ Answer ké'ﬂ): 3- 2X!07
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